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Ordinal Numbers 

 

0   20 th twentieth 40 th fortieth 
1 st first 21 st twenty-first 41 st forty-first 

2 nd second 22 nd twenty-second 42 nd forty-second 

3 rd third 23 rd twenty-third 43 rd forty-third 

4 th fourth 24 th twenty-fourth 44 th forty-fourth 

5 th fifth 25 th twenty-fifth 45 th forty-fifth 

6 th sixth 26 th twenty-sixth 46 th forty-sixth 
7 th seventh 27 th twenty-seventh 47 th forty-seventh 

8 th eighth 28 th twenty-eighth 48 th forty-eighth 

9 th ninth 29 th twenty-ninth 49 th forty-ninth 
10 th tenth 30 th thirtieth 50 th fiftieth 

11 th eleventh 31 st thirty-first 60 th sixtieth 
12 th twelfth 32 nd thirty-second 70 th seventieth 

13 th thirteenth 33 rd thirty-third 80 th eightieth 
14 th fourteenth 34 th thirty-fourth 90 th ninetieth 

15 th fifteenth 35 th thirty-fifth 100 th one-hundredth 

16 th sixteenth 36 th thirty-sixth 1000 th one-thousandth 
17 th seventeenth 37 th thirty-seventh 10000 th ten-thousandth 

18 th eighteenth 38 th thirty-eighth 100000 th one-hundred thousandth 
19 th nineteenth 39 th thirty-ninth 1000000 th one millionth 

 
 

Roman Numerals 

 

SYMBOL I V X L C D M 

VALUE 1 5 10 50 100 500 1000 
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Exercise 01 

 

1. Today is the 15____ of December. 

2. The roman numeral for the number nine is: _________________. 

3. I was hoping to get in line ___________ for the new iPhone, but I ended up second. 

4. Henry the VIII was an English king.  How many King Henrys were there before him? 

_____________ 

5. Christmas day is the ____________________________ of December. 

6. What is the roman numeral for 100? _______ 

7. What is the roman numeral for 1000? _______  

8. In roman numerals, what year is it right now? ____________________ 

9. What is the roman numerals for 1,951? _____________________ 

10. The ordinal number after thirty-ninth is? ____________________ 

11. Sally was the 1,000,000 ____ customer at Costco. 

12. Roberto was (9th) ____________, Charles was (19th) _____________________, and 

Leonardo was (90th) _______________________. 

13. (20th) _______________, (30th) ________________, (40th) ________________,            

(50th) _______________, (60th) ________________, (70th) ________________,            

(80th) _______________, (90th) ________________, (100th) _____________________. 


